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g R are internally l:anﬂanl.’
*5 OP 0nd O

at O. (l6:0) (38.0)

a. Eind the coordinate of @ and S

b. Fnd the Lengrla of 02@
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Find OC
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d+4 X =194-6X
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#13  The centers of L cirdes of radu 10cm pnd Scm are 13w gpact.

a.) Find the LcngH« of a common externaL tangent
e =

X=12
(,gl‘zllg)

bt) Do the circdes

infrersect — \[ES‘

. ’OVULO-P.

#14  The centers ob 2 circles with radil 3 and S are o wniks
a\aart. Find +he Lehjﬂﬂ of the common internaL tangent.

(3,4.5)% 2

#1b
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B8-% 4+ 1N-x =13

19-2x =13

—2x = L
X =3



11 The radiug of Q0 15 10.
The cecant segment PY measures
2| and is 8§ wuts from He

cCenler 0F the urde

o. Jind Py 15-0=[a)

b Jund 0P (3]

$23 f}thd the Pw\'mvlﬂ of a rMght /A wa
it the hadius of the curde 15 4 an
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X Hj =20

PerAW)Cy= XfU-\—wi—‘-}f“' W
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#23 B is 34mm from the centar B
of crde O, which has & radius
lbmm. Bp and BR are tongok
Sbﬁ""”‘”- AC i’omgml’ r 00
ot Poml' Q@. Find the re/rl'lmd—u’

orF A AB(/ 30
Papca=BCrCA+AB
Pagea = BP + BR

P raen = @0



